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BEARE SHEE/\RBEXRESLHUMGERIER I SN 24
£ b R - RTR Bf #H B i & # W E
BEIZEE 100, 528, 739
[tR5 5] 100, 528, 739
HE#T 46, 448, 997
HEEERT 46, 448, 997
Hiew 46, 448, 997
1 BaE%EA (1) HA5~100ke/fE. FEIRA 3,438.00 11,519 39, 602, 322
m3
2 BREA (2) #AE5~100ke/ME. EEHZA KFEI0mKH 825. 00 8, 299 6, 846, 675
m3
E&HT 9, 833, 702
t&HIJovs T 9, 833, 702
Joy o EE (1) 1.8(H) x5.0(L) 432,559
3 I—T 4 UTEE 9.00 594 5,346
m2
4 REEE - BA— SS400 ®32mm L=228cm 4.00 4,290 17,160
P/
5 mEkE - A/ N\—#aL %77 2 38mmk i 57.00 95 5,415
kg
[ EEE T Y 23.00 4,730 108, 790
m2
EPZ IR NIE 18N - 8cm - 40mmBB  W/C65%LL T 12.00 24, 654 295, 848
m3
JoyyEE (2) 1.8(H) x4.23(L) 1,078,223
8 IL—T 1 U TEE 22.00 594 13,068
m2
9 R - B/AN— SS400 ®25mm L=209cm 12.00 2,710 32,520




BERRE

TH6EE/\REXEREL

WS IEREEHEE TR 2

£ g R - KT & B #H = il ] =

10 BEkHH - B/N—H#AL £ 7 1% 38mmR i 97.00 95 9,215
kg

[ EE T Y 60. 00 4,730 283, 800
m2

12225 1)—MMTE 18N - 8cm - 40mmBB  W/C65% LI 30.00 24, 654 739, 620
m3

Joy Y EE (3) 2.1(H) x3.0(L) 8,322,920

1B IL—74 2 58% 124.00 594 73, 656
m2

14 SRS HEE 481.00 2,293 1,102,933
m2

15 R - R/ \— SS400 ®32mm L=248cm 72. 00 4,660 335, 520
.

16 B&kH - B/ \—#3L 8% 7 12 38mmK 7 1,123.00 95 106, 685
kg

17 SIS 4RSI HA S 328.00 4,730 1,551, 440
m2

18 vy 1) — MMTE 18N - 8cm - 40mmBB  W/C=65% LLTF 209. 00 24, 654 5,152, 686
m3

T 44, 246, 040

T 44, 246, 040

EIEM 30,319,674

19 EREMEBA GEREAAR) 6, 351.00 4,774 30, 319,674
m3

ERMERA - B 4,016, 371

20 A JL—X) 6, 351.00 255.5 1,622, 680
m3

21 TREER 6, 351.00 376.9 2,393, 691
m3

BIK (FER) BRL 2,138, 535




WS IEREEHEE TR 2

BEARRE SHMGEE/N\RBRES T
2 o] 1B - R Bify H =2 i & #
22 PR4K (R B+ 5,716.00 479.1 2,738,535
m3
EEER 2,461,172
23 EEER 5,817.00 423.1 2,461,172
m?2
WK — b 4,710, 288
24 JEIKY-PER 3,244.00 1, 452 4,710, 288
m2
HERSRE FEL) 1, 889, 028
HE R ER 1, 889, 028
HEREE 1, 889, 028
EBikE 1,744,028
RS EEER 1,744,028
25 EHERRCBLE—EAR) 1.00 1,744,028 1,744,028
%
BiTERE 145, 000
BT E IR 145, 000
26 BMBEEE ERBPARE. T4 L RBILE(21R) 1.00 145, 000 145, 000
=




TR SHCEE/\RBREE TN ISERER THs 24

] (XY

% # s - kT B B B B & & =
EEIEE 100, 528, 739
MEIEE 13,319,144 + 30, 465, 693 43,784,837
HBEREE GD 1,889,028 + 10,786,733 + 643,383 13,319, 144
H£ERHZE (BE) 1,889,028
HBERER (F) 100,528,739 x 10.73% ((4.80% x1.68 +1.50%) x 1.100 x 1.02) 10, 786, 733
BERERER 100,528,739 x 0. 64% 643, 383
BEEEE 113,847,883 x 26.76% ((22.58% +1.04%) x 1.100 x 1.03) 30, 465, 693
TR 100, 528, 739 + 43,784, 837 144,313,576
—REREE 144,313,576 x 16.30% (16.30% x 1.00) — 4,413 23,518, 699
RERTE 144,313,576 x 0.04% 57,725
TRl 144,313,576 + 23,518,699 + 57,725 167, 890, 000
HERERLE 167,890,000 x 10.00% 16, 789, 000
FEIZE 167,890,000 + 16, 789, 000 184, 679, 000




REFT-FELT/ v — SHEE/\REXRES LU IGEBIER TSN 24
E =
& BAREBA (1) #AE5~100kg/{E. FHEIZA 1000m3 %Y
22 g R - BIRTE BAfL H 2 B O(f & # i s &
# A 5~100kg/f@ Hv FREL
m3 1, 400. 00 5, 700. 00 7,980, 000
g L—tEm 150t H
H 4.00 641, 483. 00 2,565,932|4.00H / 8H
5| fa $fiD 600PSE!
H 4.00 229, 158. 00 916, 632(2. 00H / 8H
AR 2RD%
% 0.50 11,462, 564. 00 57,312
& H YEZEREN - 1,000.00m 3 11,519. 00 11,519, 876
&S :2
2 BREBA (2) HABS~100kg/E. EEHRA KFEIONKEH 1000m 3 Y
£ 5 R - KT BAfT ¥ = B f & % i3 s &
# F 5~100ke/f8 7w FARIEL
m3 1, 400. 00 5, 700. 00 7,980, 000
Bkt D 270PS%E! 3~5tfm
H 1.48 188, 125. 00 2178, 425|8H
AR EZOY
% 0.50 8, 258, 425. 00 41,292
& & YE%HEH : 1,000.00m 3 8,299. 00 8,299, 717
5 :3
B L—T 4 VTEEK 100m 2 &4 Y
2 5 R - BRTE B B = B f ® % i3 s &
=24 U TEE%
m2 100. 00 556. 00 55, 600
BRAZAR
m2 120. 00 32.00 3, 840
& it YE%8EH : 100.00m 2 594. 00 59, 440




REAR-ET/Avr—
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&5 4
&% BEEAS - B/A— SS400 P32mm  L=228cm 1RxEY
% 5 R - BIRTE BAfL = B & # i s &
kR - B/A— ®32mm L=228cm
X 1.00 4, 290. 00 4,290
= it YEZEREN 1. 00K 4, 290. 00 4,290
&5 :5
2 BEKAR - /AT SRR 38mmEK S 1000k g &Y
% 5 R - BRTE BAfT 2 B O(f ® # i3 s &
REkER - B/ \—#aL BAR R38R/ Y L— Rk E
kg ,000. 00 90. 48 90, 480
STOFL—ryL—r HHEARANER) ChEMES JR)16tH
H 0.10 50, 500. 00 5, 050|8H
& it YEZERESN - 1,000.00k g 95.00 95, 530
&5 :6
2 . HRBRAET RS 100m2 %Y
2 5 R - BIRTE BAfL 2 B O(f & # i3 s &
SRR B AT RS (T BRELE) g L—otkE
m2 100. 00 4,326.00 432, 600
STFL—yyL—r HHEARARNER) GhEffE S JR)16tH
B 0.80 50, 500. 00 40, 400|8H
& it YE%HEH : 100.00m 2 4, 730.00 473, 000
&5 :1
ZF: a2 91— 4T 18N - 8cm - 40mmBB  W/C65%LL T 10m3HY
% 5 R - KTk BAfT = B O(f EE i3 i &
LT4—3IHRbravyy—F 18 N-8cm—-40mm BB (W/C65%LLT)
m3 10.10 19, 200. 00 193, 920
oV ) — TR (FEREE) Ry JE
m3 10. 00 5,262.00 52,620
& it YE%HEH 0 10.00m 3 24, 654. 00 246, 540




REAR-ET/Avr—

TMOEE/\REBXES LR ANGERIEE TESN 204

‘S :8
B IL—T 4 U TEEK 100m2 %Y
£ 5 R - BIRTE BAfL = B O(f & # i s &
=24 V0%
m2 100. 00 556. 00 55, 600
BRARAK
m2 120. 00 32.00 3, 840
= H YE%HEH : 100.00m 2 594. 00 59, 440
&‘S:9
L% BEE - B/A— SS400 ®25mm  L=209cm 1RxEY
£ 5 R - KT BAfT 2 B O(f ® # i3 s &
kR - B/ — ®25mm L=209cm
X 1.00 2,710.00 2,110
& it YE¥HEH - 1. 00K 2,710.00 2,110
HS:10
2 BEKER - /AT SKFE38mmEK S 1000k g 4V
2 5 R - BIRTE B 2 B O(f ® # i3 s &
mEkES - B/\—#aL SRR R38R/ Y L— Rk E
kg ,000. 00 90. 48 90, 480
STFL—riL—r A AR ER) GhEffE S JR)16tH
B 0.10 50, 500. 00 5, 050|8H
& it EZREH : 1,000.00k g 95. 00 95, 530
BE 11
2 . SHRBAET RS 100m2 %Y
2] 5 R - KTk I=-Riv] = B O(f EE i3 i &
SHREI AT RS (T BRELE) yL—dkE
m2 100. 00 4,326.00 432, 600
STFL—rL—r A AR ER) GhEffE > TR 16tH
=] 0.80 50, 500. 00 40, 400|8H
& it YE%8EH : 100.00m 2 4, 730.00 473, 000
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H5:12
ZM a9 )—bt3TE% 18N - 8cm - 40mmBB  W/C65% LI 10m3HY
£ 5 R - BIRTE BAfL = B O(f 2 i s &
LF4—3IHRbavh)—+ 18 N-8cm-40mm BB (W/C65%LLTF)
m3 10.10 19, 200. 00 193, 920
a2 ) — MTE (FHREE) Ry JE
m3 10. 00 5,262.00 52,620
= it E%8BEH : 10.00m 3 24. 654. 00 246, 540
&S :13
B L—T 4 VTEEK 100m2 %Y
£ 5 R - KT BAfT = B O(f 2 i3 s &
=24 U TEE%
m2 100. 00 556. 00 55, 600
BRARAR
m2 120. 00 32.00 3, 840
=) & 1EZEHEH : 100.00m 2 594. 00 59 440
‘S 14
27 : HESHERSEL 100m2 %Y
2] 5 R - BRTE B = B O(f 2 i3 s &
IMEL AR B IHEE L (S BREME) g L—odkE
m2 100. 00 2,142.00 214,200
STFL—riL—r A AR ER) CHEEfE J8) 16tH
B 0.30 50, 500. 00 15, 150|8H
& it YE%HEH : 100.00m 2 2,293.00 229, 350
&S :15
2 BEKAR - m/N— SS400 P32mm  L=248cm 1K%Y
2] [ R - KTk I=-Riv] = B % i3 i &
kAR - B/N— ®32mm L=248cm
X 1.00 4, 660. 00 4, 660
& it YE¥8EH - 1. 00K 4, 660. 00 4, 660
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&5 : 16
B RER - AN SEBHEI8mmER 1000k g4V
£ 5 R - BIRTE BAfL H 2 B O(f & # i s &
REkER - B/\—#aL SAR R38R/ Y L— R E
k g 1,000. 00 90. 48 90, 480
STFL—riL—r A AR ER) ChEES JE)16tH
H 0.10 50, 500. 00 5, 050|8H
& it YEZHeH - 1,000.00k g 95. 00 95,530
BS 17
2 - HRBRAET RS 100m2%1
£ 5 R - KT BAfT ¥ = B O(f & % i3 s &
SHELE AE ST AR S (FEREME) yL—otkE
m2 100. 00 4,326.00 432, 600
STFL—2iL—r A AR ER) ChEMES JR)16tH
H 0.80 50, 500. 00 40, 400|8H
& it YEZERES : 100.00m 2 4, 730.00 473, 000
&S :18
¥ a9 1)—b4TE% 18N - 8cm - 40mmBB  W/C=65% LI T 10m3xyy
2 5 R - BRTE B B = B O(f ® % i3 s &
LT4—3IHRbavyy—+ 18 N-8cm—-40mm BB (W/C65%LLT)
m3 10.10 19, 200. 00 193, 920
a2 ) — T (F5REE) Ry JE
m3 10. 00 5,262.00 52,620
& it YE%HEH - 10.00m 3 24, 654. 00 246, 540
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H5:19
B ERMBA GEREBEAAR) 1000m 34 L)
£ 5 R - BIRTE BAfL #H = B O(f & # W E s &
WXy
m3 1,250.00 3, 000. 00 3, 750, 000
g L—tEm 150t H
H 1.14 648, 736. 00 739, 559 |8H
5| fa £fD 600PSEY
H 1.14 229, 158. 00 261,240(2. 00H / 8H
A 2R0Y%
% 0.50 4,750, 799. 00 23, 753
= & EZ8BEH - 1,000.00m 3 4,774.00 4,774, 552
&S :20
2% A (L—X) Tm3HyY
£ 5 R - KT BAfT ¥ = B O(f ® # W= s &
&2 (L—X)
m3 1.00 255.5 255.5
& it YEZEREN :1.00m 3 255.5 255.5
&5 21
B LREER Tm3HyY
2] 5 R - BRTE B B = B O(f ® % = s &
TRYEERR
m3 1.00 376.9 376.9
& it YE%¥HEH : 1.00m 3 376.9 376.9
‘S :22
B BRA (IR B L Tm3%Y
2] [ R - KTk I=-Riv] #H = B O(f EE W E i &
O NEI R
m3 1.00 479.1 479.1
& it YE%HEH : 1.00m 3 479.1 479.1
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H5:23
B REER Tm234y
£ 5 R - KT =-Fiva = B O(f & % W E s &
EEER
m2 1.000 423.1 423.1
= it E%EEH - 1.00m 2 493 1 49231
H5:24
B EKY-IER Tm234y
£ 5 R - KT B = B O(f & % W= s &
K Y- MR
m2 1.000 1,452 1,452
& it YEZEREN :1.00m 2 1,452 1,452
‘S :25
& ERERGEL—EAR) 14y
£ 5 R - KT B = B O(f & % W= s &
HCEHEMD GERTTE =) $8D 150t/
B 1.00 1,151, 680. 00 1,151,680/6.00H / 8H
5lfm £HD 700PSEY
B 1.00 304, 552. 00 304, 552(6.00H / 8H
EUT
A 4.00 217, 560. 00 110, 240
LTEEXE
A 8.00 21,110.00 168, 880
SRR o) 2R 0Y%
% 0.50 1, 735, 352. 00 8,676
& & 1EZREA : 1.00 1,744, 028. 00 1,744, 028
&S :26
&F  BTEEE #HREIMAE. T4V UIJREBIIE(2IE) 14y
2] [ R - KTk I=-Riv] = B O(f EE W E i &
RiTEEE
= 1.00 145, 000. 00 145, 000
& it 1EZREA - 1.00 145, 000. 00 145, 000




